Raja Narendralal Khan Women's College [Autonomous]

Gope Palace, P.O-Vidyasagar University Midnapore

NIQ NO. :RNLKWC / NIT / 01 /19-20 Dated 16.05.19

OFFICE MEMO NO: 173 WCMID/19/a DATE:16.05.2019

NOTICE INVITING TENDER (NIT)

For and on behalf of Raja Narandra Lal Khan Women's College (Autonomous), the Principal, Raja Narandra Lal Khan Women's College (Autonomous), Paschim Medinipur, invites Offline Tender for **percentage rate tenders** from the intending contractors having adequate experience and credentials for similar nature of work in Public Sector or Industries for the following work.

Details BOQ:

Sl.No	Name of the work	Estimated Rate	Quoted Percentage	Quoted Rate (in Figure)	Quoted Rate
(1)	(2)	(Rs.)	(4)	(5)	(in word) (6)
(1)		(3)	(1)	(3)	(0)
	Construction and Erection of				
DNI IZWO / NITE / 01	Naturally Ventilated Poly House in				
RNLKWC/NIT/01	the college premises of Raja				
/19-20	Narandra Lal Khan Women's	481930.20			
Dated 16.05.19	College (Autonomous) Mouza- Phulpahari, J.L.No 152, Plot No 159, P.S Kotwali, Dist Paschim Medinipur.				

Intending bidders may download tender documents from college website www.rnlkwc.ac.in The bid documents (BOQ) duly filled in all respect with credentials should be submitted in a sealed envelope to principal office of Raja Narandra Lal Khan Women's College [Autonomous], Paschim Medinipur. Raja Narendralal Khan Women

College [Autonomous], Midnapore does not take any responsibility for the delay caused due to non-availability of Internet connection or traffic jam etc.

The detailed program and other information of tender are furnished below (**Details SOQ**):

✓ Size -330 Sq. Mtr.
✓ Centre Height : 5.5 Mtr.
✓ Side Height : 4 Mtr.
✓ Grid Size: Multi Span

✓ Type of Construction : Naturally Ventilated Poly House

✓ Dimension : 55 Mtr. (L) x 6 Mtr. (W)

✓ No. of Bays: 1

✓ Dimension of Bays : 55 Mtr. (L) x 6 Mtr. (W)

Sr.	Components	Dimension	Unit	Rate	Rate			
No.	_			(Rs./Unit)	(Rs. Total)			
A.	A. FIXED CAPITAL							
1.	Polythine Pipe	300	ft	15.00	4500.00			
2.	Steel Pipes / aluminium panels	16x20.50(WxL)-2spam each	330 Sq	979.40	323202.00			
		of 8 Mtr. In Width (300SqMtr)	Mtr					
3.	Glass panels /PVC Panels	Cover with UV protected 200	330 Sq	182.90	60357.00			
		micron Agro Ploy Film (330	Mtr					
		Sq Mtr)						
4.	Hardware [Screw /nuts etc]	Fitting accessories and	330 Sq	260.00	85800.00			
		transportation:	Mtr					
		C Shape GI Profile						
		Zig zag spring						
		High quality carbon plated						
		Nut, bolts & Self drilling						
		screws						
		Constructing labors						
		Transportation						
5.	Buffer room	Pre-Entry Room constructing	9 sqmtr	896.80	8071.20			
		size 3Mtrx 3mtr with the main						
		structure material and covered						
		with 200 micron UVstabilized						
		Poly Film, consisting of						
		double entry door system with						
		all locks and hinges						
	Total:Four lakh eighty one thousand nine hundred thirty				481930.20			
	and twenty paisa only							

^{*}The civil work required for building the cement concrete base upon which the above mentioned structure will be raised will be done by the college. **The price quoted should be inclusive of GST.**

Intending contractors having adequate credential, experience and financial solvency are requested to apply. Raja Narendralal Khan Womenøs College [Autonomous], Midnapore reserves the right to reject any or all application and tenders without assigning any reason thereof.

Raja Narendra Lal Khan Women's College (Autonomous)

Midnapore, Paschim Medinipur-721102

Phone: (03222) 275 426

List of Important Dates of Bids

1.	Name of Work	Construction and Erection of Naturally Ventilated Poly House in the college premises of Raja Narandra Lal Khan Women's College (Autonomous) Mouza-Phulpahari, J.L.No 152, Plot No 159, P.S Kotwali, Dist Paschim Medinipur.
2.	Completion Period of work	01 (One) Months after receiving Work order by successful bidder.
3.	Date of Issue of Notice Inviting Bid	16.05.2019
4.	Period and time for download of Bidding Documents from college website	From: 16.05.2019 at 4.00 A.M. To: 24.05.2019 at 3.00 P.M.
5.	Place of submission of bids	Raja N. L. Khan Women's College (Autonomous), Midnapore, Paschim Medinipur- 721102
6.	Time of submission Bids	From: 16.05.2019 at 4.00 A.M. To: 24.05.2019 at 3.00 P.M.
7.	Time and Date for opening Bids	24.05.2019 at 3.15 P.M
8.	Place of opening bids	Raja N. L. Khan Women's College (Autonomous), Midnapore, Paschim Medinipur- 721102
9.	Last Date of Bid Validity	30 days

Sd/-Principal Raja N. L. Khan Women's College Midnapore, Paschim Medinipur-721102. NIQ NO.:RNLKWC/NIT/01/19-20

Dated 16.05.19

OFFICE MEMO NO: 173 WCMID/19/a

DATE:16.05.2019

NOTICE INVITING TENDER (NIT)

Copy forwarded for information and wide publications :-

- 1. College Website: www.rnlkwc.ac.in
- 2. Accountant.
- 3. Convener, College Purchase Committee.
- 4. Notice Board of Raja N. L. Khan Women's College (Autonomous).

Sd/Principal
Raja N. L. Khan Women's College
(Autonomous).
Midnapore, Paschim Medinipur-721102